MAT 102 - Exam] - Fall 2013

-

Instructor: Dr. Francesco Strazzullo Name MC /

Instructions. Each problem is worth 10 points. Remember to check your solutions and “box™ them reduced to lowest terms or with
decimal numbers rounded to two decimal places. You might need some of the following formulas:
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SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Simplify the following radical expression.
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2. Two cars leave a house at the same time. One travels due west at an average speed of 35 miles per hour, and the other travels due
east at an average speed of 54 miles per hour. After how many minutes will the two cars be about 30 miles apari?
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( 3. Consider the following compound inequality.
—4 < 6-2x < 21

(a) Describe the solution set using interval notation, and (b) graph the solution set.
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4. Solve the following quadratic equation.
6x* — 11x=7
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( 5. A ball is kicked upward from a 2-foot height at a speed of 20 feet per second. How lcmg does it take the ball to be 7 fect above the
ground?
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6. Solve the following rational equation.
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7. If Lucia were to mow her backyard alone, it would take her twice the amount of time it takes her husband to mow the same area,
Lucia and her husband mow their backyard together in 3 hours. How long would it take Lucia to mow her backyard alone?
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8. Solve the following radical equation.
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